
The Sight from Back

EEC Approved No.

e1   0513

Tailpipe #1
115-499-5450

Tailpipe #2
115-499-5461

Silencer Assy
1A6-499-5421  Metal Magic Sleeve
1A6-499-5451  Stainless Sleeve
1A6-499-5481  Titanium Sleeve

Silencer Band (2pieces)
162-49R-9500

Cap Bolt M8x35
800-208-5035

Washer M8x26x2
812-108-2600

Flange Nut M8
823-008-1250

Cap Bolt M6x15
800-206-4015

Conical Spring Washer M6
810-206-0000

Exhaust Spring
118-001-0000

Clamp Band (51-55)
162-777-5155

Silencer Band Rubber
896-007-0225

Cap Bolt M8x35
800-208-5035

Washer M8x26x2
812-108-2600

Flange Nut M8
823-008-1250

YOSHIMURA GP-FORCE SLIP-ON
HONDA CBR1000RR '04-'06
EEC APPROVED

Metal Magic Sleeve  ; 1A0-499-5422
Stainless Sleeve       ; 1A0-499-5452
Titanium Sleeve        ; 1A0-499-5482

For '04 & '05 Model For '06 Model

For '04 & '05 Model

Cap Bolt M6x15
800-906-4015

Washer M6x20x2.0
812-206-2020

Grommet Spacer 6-8-8
850-106-0808

Silencer Band

162-49RA9500  162-49RB9500

Upper

Lower 162-49RC9500

SD#15
138-138-5715

Lot Number


